Math 299 Homework Assignment, Chapter 5

Section 5.4

5.40

Show that there exist a rational number a and irrational number b such that a® is
rational.

Section 5.5
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Disprove the statement: There is a real number z such that 2% + 2% + 1 = 222,

The king’s daughter had three suitors and couldn’t decide which one to marry. So,
the king said, "I have three gold crowns and two silver ones. I will put either a gold
or silver crown on each of your heads. The suitor who can tell me which crown he has
will marry my daughter.” The first suitor looked around and said that he could not
tell. The second one did the same. The third suitor said: ”I have a gold crown.” He
is correct, but the daughter was puzzled: The suitor was blind. How did he know?

Let ai,a9,...,a, be odd integers where a; > 1 for ¢ = 1,2,...,r. Prove that if
n = aiag...a, + 2, then a; { n for each integer ¢ (1 <i <r).

Prove that there exist four distinct real numbers a, b, ¢, d such that exactly four of the
numbers ab, ac, ad, be, bd, c¢d are irrational.

Bonus problem. (If you need a challenge:)

The integers 1,2,3 have the property that each divides the sum of the other two.
Indeed, for each positive integer a, the integers a, 2a, 3a have the property that each
divides the sum of the other two. Show that the following statement is false.
There exists an example of three distinct positive integers different from a, 2a, 3a for
some a € N having the property that each divides the sum of the other two.



